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- MX 28.00 31.23 2143 10% | 31% 1
DS 2 28.50 26.87 23.05 6% 1 24% 1
- M2 21.08 20.09 17.88 5%t 18% t
SDC 7.71 7.97 6.87 3% | 12% 1t
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T = 229 2&271% ‘229 1271% 2149 2271%
Xt o 4,480,407 4,393,270 3,847,777
-HE X 1,253,523 1,258,896 1,111,022
L N 440,262 444,650 356,249
- L RHAE 520,922 475,907 335,924
- EXRpLE 275,921 280,904 252,735
- REXL 1,542,546 1,496,180 1,393,899
- RE XA 200,969 200,107 207,470
- 7|EbRp&E 246,264 236,626 190,478
NN | 4,480,407 4,393,270 3,847,777
X 1,201,340 1,240,360 1,024,534
- Kt 174,390 180,504 167,349
- DY UXH 2 125,607 151,339 110,526
- 0XlgaHE 409,029 434,019 352,930
- 7| OIM XY 60,677 71,938 42,310
- M3 20,338 23,931 19,529
- 7| EHEL XY 411,299 378,629 331,890
Xt 2 3,279,067 3,152,909 2,823,243
- Xt 8,975 8,975 8,975
St XHEA 4,480,407 4,393,270 3,847,777
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